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BEFORE ATTEMPTING THE QUESTIONS READ INSTRUCTIONS CAREFULLY.

s wdizwg ofS AT / Instructions to Candidates :

1. ofwdR FOTR MG AT TP P Tad TP o oited o AW, e A 49
@RI TR B@ (g e Saa S afen At A 70e S ) | e $E offeF

i ey 2Rfefemebre wrea faw (el AgerETS |

The candidate is required to write his/ her Full Name, Roll Number and Registration
Number on the Question-cum-Answer Booklet according to the Admit Card issued by
the Council ( If it is wrongly written, the Question-cum-Answer Booklet may be
rejected ). It is compulsory for the examinee to get the Question-cum-Answer Booklet
signed by the Invigilator in the space provided.

2. wEfrewfefes o ofel avm vl A Ton SR oW eI AW EW WR, ©F T

sfoz 7wl (a, b, c T d) ForaTe W@ _
A box is provided at the right side bottom against each question of MCQ for both the
versions. You must write the correct choice ( a, b, cor d) in this box.

3. w3t o grer Yo ToAviTEE Y @R e Bew o s ey firs za
After completion of the examination this Question-cum-Answer Booklet must be
tied securely with main Answer-script. =
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1.fhm@mdﬁnmnuﬁﬂn@mmﬁmﬁmwmn&mwmﬁwﬁmn
1x10=10

Choose the correct answer from the given alternatives (Alternatives are to be

noted) :

i) s f(x)=3x?-2x @a g(x) = 3(3x - 2) Werw b T & 2
@ {12} b (13)

© {23} @ {Zo}

The domain in which the functions f (x)=3x2-2x and

g(x)=3(3x-2) will be equalis

(m {L%} (b) {13}
@ {Zs} @ {20} ]
W@t / OR

@A A={1,2,3}9R A CH &WC R & 7,
R={(1,1), (1,2), (2,1) }; ®@ R >¥&0 T
(a) =™ (b) afem

(c) TG (d) amR @B T

Let A={1,2 3}and R be a relation defined on A, such that
R=1{(1,1), (1,2), (2,1) }; then the relation R will be
(a) Reflexive (b)  Symmetric

(c) Transitive (d) none of these. [__—]
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i WWf:R->RAER g: R = R wrsmwayft Tw@mn f(x)=3x+2 @
g(x) = 2x — 3 WA WIS, [ R = AW e o | &, (go f)(x) T

(@ 6x-7 (b) 6x+1

() 3x+5 d 6x+4

If the functions f: R - Rand g: R — R defined as f(x)=3x+2 and
g(x)=2x-3, [ R = set of Real numbers | then (go f)(x) is

(@ 6x-7 (b) 6x+1
© 3x+5 d) 6x+4 ]
@t / OR

tan(%—tan" %) 93 YW @

@ 3 6 3

@ 2

N =

(©

The value of tan (-;— -tan™! %) is equal to

(b) 3

o 2 -

W=

(a)

(S

(c)

(i) A_(g) @t B-(g) @ A= BR@, ( a, b)-9% WH Q@

(a (3,6) (b) (6,3)
() (6,6) d (3,3)
[1e119] [wsmatH Sclencemaster.in 4 of 11
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If A =(g) and B -(g) and A = B, then ( a, b) is equal to

(@ (3,6) (b) (6,3)
© (6,6) @ (3,3) ]
| HY4qt /| OR
a b c
a+b+c=0%E |b ¢ a|-99 I @
c a b
(@ 1 b) a
(0 O d -1
a b c
Ifa+b+c=0, thenvalueof |[b ¢ alis
c a b
(@ 1 (b) a

(iv)

ﬂ+y—3l+ Y wee sifieaefba s 2@
dx®

(a 1 (b) 2
(c) 3 d 4

3
The degree of the differential equation -:—x% +y= 3’ 1+ % is

(@ 1 (b) 2
€ 3 (d) 4 (]
wwal / OR
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[e¥'®eXdx-@ammE®  (a#-1)

(a) -(I;ea logex | o (b) % +c
a-1 xa+l
(©) ax” - +e (d) = +c,

( ofS cFta ¢ @3l et $35 1)

The value of Ieabge *dx will be (a#-1)

(@) %ea loge x +c (b) % +c
ey xa+l
© ax®l+c @ X+, [ ]

( cis an integration constant in each case. )

(v)  flx)=log(3x+1) TET f"(1)-a7 W T

@ 1 0 -
© 3 @ -2

If f(x)=log(3x+1), then the value of f"(1) is

@ 1% O -

() -3- (d) -% ]
U9ql / OR
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f(x)=§i—';-’-‘-(x:0) Sl x = 0 TS 79 &, f( 0 )-93 ¥ 208

(@ O (b) 1

© = (d)

A

If f(x) =%(x #0) is continuous at x = 0, then the value of f( 0)

will be

(@ O b)) 1

© = @ I ]

(vi)  f(x)=4x - x? - 3 T 539 T AR I3

(c) x=-=2 (d) x=-3
The value of the function f(x)=4x- x? - 3 will be maximum when
(a x=3 (b) x=2

(c) x=-2 (d x=-3 D

(vii) A=(1,0,2)493 B=(0,1,1)% AB-93 fiw @ridtef 3w

- b _I__L_l_
. (b) J3' 33
() ﬁ.ﬁ'JS (d) V2 J J

Lienns] (wsmatwl  gojencemaster.in 7ol 11


sciencemaster.in 


#(12)5024-(05)e-(Ng

IfA=(1,0,2)and B=(0,1,1), then direction cosines of the lin

AB are
[ S
@ 1,-1,1 (b) B BB
R TR SR TS & [
@ -mewE 9 wTrR:
weat / OR

A
Z=i+3j]\'—;; @3 3=2?+6;+ka?@wm s R

(a 3 (b) -6

(cp -3 d -2

- A A A - A A A —r -

a=i+3j-k and b=2i+6j+Ak. If a and b vectors are paralle!,

then the value of A is

(a 3 (b)

c) -3 (d)

[

(viii)

@3 NG -, yIF GI 2 AW YT 2, 3, 4 OFF A (I

& e siane
(a) 6x+4y+3z=12 (b) 4x+3y+62=12
() Bx+6y+4z=12 d)  6x+2y+3z=12

Lieits] [we-mAtH gcjencemaster.in
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The equation of the plane with intercepts 2, 3, 4 units on the x-axis,
y-axis and z-axis respectively is

(@ 6x+4y+3z=12 (b) 4x+3y+62=12

© 3x+6y+4z=12 (d) 6x+2y+3z=12 [ ]

(ix)

@2 @R @3 AR B 91 7@ 5 1 B (7 SreE IRl 2@
@ 3 CIE

@ 3 @ 3

An unibiased coin is tossed for 3 times. Then the probability of

getting only one head is

@ = CIE
@ 2 @ g ]
w9dl / OR

@b @ 10 44 53 41 Q| O 6 I (RS WP SR JeeT!

10 1 ' 10 1
(ﬂ’ C5 -aTB‘ (b) C3 . 2[0

10 1 10 1
(c) C, .——2”) (d) Cy '—2l0 "
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10 1 10 .
(a) CS‘F (b) C;;‘ 10

N

10 1 10 1

N

\
A coin is tossed 10 times. The probability of getting head 6 times i |

L]

(x)  P(B)= % P(ANnB) = 1—43- x5 P(A/B)-a49 94 204

2

(a) 9 (b) %
9

© 13 @ =

If P(B)=1— P(Ar\B)——s—,then value of P(A/B) is
2 .

(a) ) (b) %
9

© 3 @ 3 .
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